

H11

$$\begin{aligned}
 \text{a) } I_{ij} &= \int \sigma_0 (r^2 \delta_{ij} - x_i x_j) dF \\
 I_1 &= \begin{pmatrix} \sigma_0 \int_{-a/2}^{a/2} \int_{-b/2}^{b/2} (y^2 + z^2) dx dy & -\sigma_0 \int_{-a/2}^{a/2} \int_{-b/2}^{b/2} xy dx dy & -\sigma_0 \int_{-a/2}^{a/2} \int_{-b/2}^{b/2} xz dx dy \\ -\sigma_0 \int_{-a/2}^{a/2} \int_{-b/2}^{b/2} xy dx dy & \sigma_0 \int_{-a/2}^{a/2} \int_{-b/2}^{b/2} (x^2 + z^2) dx dy & -\sigma_0 \int_{-a/2}^{a/2} \int_{-b/2}^{b/2} yz dx dy \\ -\sigma_0 \int_{-a/2}^{a/2} \int_{-b/2}^{b/2} xz dx dy & -\sigma_0 \int_{-a/2}^{a/2} \int_{-b/2}^{b/2} yz dx dy & \sigma_0 \int_{-a/2}^{a/2} \int_{-b/2}^{b/2} (x^2 + y^2) dx dy \end{pmatrix} \\
 &= \begin{pmatrix} \sigma_0 \int_{-a/2}^{a/2} \int_{-b/2}^{b/2} y^2 dx dy & -\sigma_0 \int_{-a/2}^{a/2} \int_{-b/2}^{b/2} xy dx dy & 0 \\ -\sigma_0 \int_{-a/2}^{a/2} \int_{-b/2}^{b/2} xy dx dy & \sigma_0 \int_{-a/2}^{a/2} \int_{-b/2}^{b/2} x^2 dx dy & 0 \\ 0 & 0 & \sigma_0 \int_{-a/2}^{a/2} \int_{-b/2}^{b/2} (x^2 + y^2) dx dy \end{pmatrix} \\
 &= \begin{pmatrix} \frac{1}{12} \sigma_0 ab^3 & 0 & 0 \\ 0 & \frac{1}{12} \sigma_0 a^3 b & 0 \\ 0 & 0 & \frac{1}{12} \sigma_0 ab(a^2 + b^2) \end{pmatrix} = \frac{1}{12} M_1 \begin{pmatrix} b^2 & 0 & 0 \\ 0 & a^2 & 0 \\ 0 & 0 & a^2 + b^2 \end{pmatrix} \\
 I_2 &= \begin{pmatrix} \sigma_0 \int_{-b/2}^{b/2} \int_{-c/2}^{c/2} (y^2 + z^2) dy dz & -\sigma_0 \int_{-b/2}^{b/2} \int_{-c/2}^{c/2} xy dy dz & -\sigma_0 \int_{-b/2}^{b/2} \int_{-c/2}^{c/2} xz dy dz \\ -\sigma_0 \int_{-b/2}^{b/2} \int_{-c/2}^{c/2} xy dy dz & \sigma_0 \int_{-b/2}^{b/2} \int_{-c/2}^{c/2} (x^2 + z^2) dy dz & -\sigma_0 \int_{-b/2}^{b/2} \int_{-c/2}^{c/2} yz dy dz \\ -\sigma_0 \int_{-b/2}^{b/2} \int_{-c/2}^{c/2} xz dy dz & -\sigma_0 \int_{-b/2}^{b/2} \int_{-c/2}^{c/2} yz dy dz & \sigma_0 \int_{-b/2}^{b/2} \int_{-c/2}^{c/2} (x^2 + y^2) dy dz \end{pmatrix} \\
 &= \begin{pmatrix} \sigma_0 \int_{-b/2}^{b/2} \int_{-c/2}^{c/2} (y^2 + z^2) dy dz & 0 & 0 \\ 0 & \sigma_0 \int_{-b/2}^{b/2} \int_{-c/2}^{c/2} z^2 dy dz & -\sigma_0 \int_{-b/2}^{b/2} \int_{-c/2}^{c/2} yz dy dz \\ 0 & -\sigma_0 \int_{-b/2}^{b/2} \int_{-c/2}^{c/2} yz dy dz & \sigma_0 \int_{-b/2}^{b/2} \int_{-c/2}^{c/2} y^2 dy dz \end{pmatrix} \\
 &= \begin{pmatrix} \frac{1}{12} \sigma_0 bc(b^2 + c^2) & 0 & 0 \\ 0 & \frac{1}{12} \sigma_0 bc^3 & 0 \\ 0 & 0 & \frac{1}{12} \sigma_0 b^3 c \end{pmatrix} = \frac{1}{12} M_2 \begin{pmatrix} b^2 + c^2 & 0 & 0 \\ 0 & c^2 & 0 \\ 0 & 0 & b^2 \end{pmatrix} \\
 I'_1 &= I_1 + M_1 \begin{pmatrix} \frac{b^2}{4} & -\frac{ab}{4} & 0 \\ -\frac{ab}{4} & \frac{a^2}{4} & 0 \\ 0 & 0 & \frac{a^2 + b^2}{4} \end{pmatrix} = \frac{1}{12} M_1 \begin{pmatrix} 4b^2 & -3ab & 0 \\ -3ab & 4a^2 & 0 \\ 0 & 0 & 4(a^2 + b^2) \end{pmatrix} \\
 I'_2 &= I_2 + M_2 \begin{pmatrix} \frac{b^2 + c^2}{4} & 0 & 0 \\ 0 & \frac{c^2}{4} & -\frac{bc}{4} \\ 0 & -\frac{bc}{4} & \frac{b^2}{4} \end{pmatrix} = \frac{1}{12} M_2 \begin{pmatrix} 4(b^2 + c^2) & 0 & 0 \\ 0 & 4c^2 & -3bc \\ 0 & -3bc & 4b^2 \end{pmatrix} \\
 I_G &= I'_1 + I'_2 = \frac{1}{12} M_1 \begin{pmatrix} 4b^2 & -3ab & 0 \\ -3ab & 4a^2 & 0 \\ 0 & 0 & 4(a^2 + b^2) \end{pmatrix} + \frac{1}{12} M_2 \begin{pmatrix} 4(b^2 + c^2) & 0 & 0 \\ 0 & 4c^2 & -3bc \\ 0 & -3bc & 4b^2 \end{pmatrix} \\
 &= \frac{1}{12} \begin{pmatrix} 4b\sigma_0(ab^2 + b^2c + c^3) & -3a^2b^2\sigma_0 & 0 \\ -3a^2b^2\sigma_0 & 4b\sigma_0(a^3 + c^3) & -3b^2c^2\sigma_0 \\ 0 & -3b^2c^2\sigma_0 & 4b\sigma_0(a^3 + ab^2 + b^2c) \end{pmatrix}
 \end{aligned}$$

$$b) I_G = \frac{1}{12} M \begin{pmatrix} 12L^2 & -3L^2 & 0 \\ -3L^2 & 8L^2 & -3L^2 \\ 0 & -3L^2 & 12L^2 \end{pmatrix}$$

Hauptträgheitsmomente=Eigenwerte:

$$0 \stackrel{!}{=} \begin{vmatrix} L^2 M - \lambda & -\frac{L^2 M}{4} & 0 \\ -\frac{L^2 M}{4} & \frac{2L^2 M}{3} - \lambda & -\frac{L^2 M}{4} \\ 0 & -\frac{L^2 M}{4} & L^2 M - \lambda \end{vmatrix}$$

$$= (L^2 M - \lambda)^2 \left( \frac{2L^2 M}{3} - \lambda \right) - 2 \left( -\frac{L^2 M}{4} \right)^2 (L^2 M - \lambda)$$

$$= (L^2 M - \lambda) \left( -\frac{1}{8} L^4 M^2 + (L^2 M - \lambda) \left( \frac{L^2 M}{18} - \frac{\lambda}{24} \right) \right)$$

$$= \frac{1}{24} (L^2 M - \lambda) (13L^4 M^2 - 40L^2 M \lambda + 24\lambda^2)$$

$$\Rightarrow \lambda_1 = L^2 M, \lambda_2 = \frac{1}{12} L^2 M (10 - \sqrt{22}), \lambda_3 = \frac{1}{12} L^2 M (10 + \sqrt{22})$$

Hauptträgheitsachsen=Eigenvektoren:

$$1. \text{ EW: } \begin{vmatrix} 0 - \frac{L^2 M}{4} v_y^1 + 0 & = 0 \\ -\frac{L^2 M}{4} v_x^1 - \frac{1}{3} L^2 M v_y^1 - \frac{L^2 M}{4} v_z^1 & = 0 \\ 0 + -\frac{L^2 M}{4} v_y^1 + 0 & = 0 \end{vmatrix} \Rightarrow \begin{vmatrix} v_y^1 & = 0 \\ v_x^1 & = -v_z^1 \end{vmatrix} \Rightarrow v^1 = \begin{pmatrix} v_0 \\ 0 \\ -v_0 \end{pmatrix}$$

$$2. \text{ EW: } \begin{vmatrix} LM^2(1 - \frac{1}{12}(10 - \sqrt{22}))v_x^2 - \frac{L^2 M}{4} v_y^2 & = 0 \\ -\frac{L^2 M}{4} v_x^2 + L^2 M(\frac{2}{3} - 10 + \sqrt{22})v_y^2 - \frac{L^2 M}{4} v_z^2 & = 0 \\ -\frac{L^2 M}{4} v_y^2 + LM^2(1 - \frac{1}{12}(10 - \sqrt{22}))v_z^2 & = 0 \end{vmatrix} \Rightarrow \begin{vmatrix} v_x^2 & = v_z^2 \\ v_y^2 & = \frac{1}{3}(2 + \sqrt{22})v_z^2 \end{vmatrix} \Rightarrow$$

$$v^2 = \begin{pmatrix} v_0 \\ \frac{1}{3}(2 + \sqrt{22})v_0 \\ v_0 \end{pmatrix}$$

$$3. \text{ EW: } \begin{vmatrix} LM^2(1 - \frac{1}{12}(10 + \sqrt{22}))v_x^3 - \frac{L^2 M}{4} v_y^3 & = 0 \\ -\frac{L^2 M}{4} v_x^3 + L^2 M(\frac{2}{3} - 10 - \sqrt{22})v_y^3 - \frac{L^2 M}{4} v_z^3 & = 0 \\ -\frac{L^2 M}{4} v_y^3 + LM^2(1 - \frac{1}{12}(10 + \sqrt{22}))v_z^3 & = 0 \end{vmatrix} \Rightarrow \begin{vmatrix} v_x^3 & = v_z^3 \\ v_y^3 & = \frac{1}{3}(2 - \sqrt{22})v_z^3 \end{vmatrix} \Rightarrow$$

$$v^3 = \begin{pmatrix} v_0 \\ \frac{1}{3}(2 - \sqrt{22})v_0 \\ v_0 \end{pmatrix}$$

$\Rightarrow$  Einheitsvektoren in Hauptträgheitsachsen-Richtung:

$$v_1 = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}, v_2 = \begin{pmatrix} 1 \\ \frac{1}{3}(2 + \sqrt{22}) \\ 1 \end{pmatrix}, v_3 = \begin{pmatrix} 1 \\ \frac{1}{3}(2 - \sqrt{22}) \\ 1 \end{pmatrix}$$

$$T = \left( \frac{1}{\sqrt{2}}, \frac{1}{\sqrt{2}}, 0 \right) \cdot \left( \frac{1}{12} M \begin{pmatrix} 12L^2 & -3L^2 & 0 \\ -3L^2 & 8L^2 & -3L^2 \\ 0 & -3L^2 & 12L^2 \end{pmatrix} \cdot \begin{pmatrix} \frac{1}{\sqrt{2}} \\ \frac{1}{\sqrt{2}} \\ 0 \end{pmatrix} \right)$$

$$= \frac{3L^2 M}{8} + \frac{\frac{1}{3}\sqrt{2}L^2 M - \frac{L^2 M}{4\sqrt{2}}}{\sqrt{2}} = \frac{7}{12} L^2 M$$

